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transaction?

b) A it H iy g

a) F 5 UfEA N AR ?

How many prices cannot be accepted in the (a) ¥ /Ans: 28

Bg LS A?

What is the highest price which cannot be (b) & /Ans: 55

accepted in the transaction?
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2. B l»llE'" ﬁéj—l/;’}

Please draw the five different

shapes on the grid paper provided.
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Find the result of the tenth row.
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Draw 5 different methods other than the method illustrated in Diagram 2 and Diagram 3.
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Should be marked case by case
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Try to mark the cutting lines in each of the diagram below according to the start position

marked by the arrow and the 3< mark, such that the sums of the numbers in each of the two

parts are the same.
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(8) ¥ HCRATIPHS 3 b miEg S 0

what is the shortest distance he travels to (a) #/Ans: 1 km/ 1000 m
work? (0 mark if unit is omitted)
12
(b) # ¥ M A PBERMAT 0 iE?
how many different paths of shortest distance are (b) % /Ans: 252
there?
(@ &>3 53 >F 7
At least how many pages are there in the (a) &/Ans: 28
newspaper?
(b) #5357 F 7 2
At most how many pages are there in the (b) #/Ans: 28
newspaper?
FEHTERP AR R AL 2R RERN G BlEo FRY e Bl {oin A Ap £ e
Draw straight lines to divide the clock face into three parts such that each part contains four
numbers and the sums of the numbers in each part are the same.
/2
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9, |4 inF LEix :&x‘fl;"?f PRk fict 9 ;%—- » it i% F/Ans:
I Bk o ok R E AL REAFE APk
If you were the first player, which card should be taken —+ 5 °
first? Describe your winning strategy.
PR LT R R e
Marking guideline: PR Bz BT 2
Card with number ‘5’ should be taken first: 1 mark  32E_15 -
2™ Player cannot win on the next play: Imark Fli 589 & A28 52 /4
Explanation of ¢ and (10—a): 2 marks {5 -
(6L ek | HBIRE B ﬂ,glw,
53 BB o
8 3
1 5
6 7
10. | 27 WM F SRHFEL DR E?
How many possible combinations of hand-shaking are % /Ans: 5 n
there?
1 | * 3 e RABALLX3B 4B -SBHZ26BLmE-
Divide the plane figure into 3, 4, 5 and 6 parts respectively by two straight lines
A3 BTG B LA 4 BT G B
Divide into 3 parts: Divide into 4 parts:
/4
LSS5 BTG BlA: LS 6 BT g BA:
Divide into 5 parts: Divide into 6 parts:
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20 A R
Fill in the minimum number of boxes in the diagram below, such that the whole diagram

has two axes of reflectional symmetry. Draw the axes of reflectional symmetry with dotted

lines.
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l. £33 -l frB A%l pfrgq L3 -k feR A warfes  BY p g ~rZ sy o FF
ﬁﬁ:o gé:f‘l,ﬂ'l? ?ﬁglj—[_g._ jﬁﬁ;’};fiﬁ’jp ~g ST SE’?AJ—-,E\ ¢ - f[}"f_l_g °
The length and width of rectangle one are p and ¢, the length and width of rectangle two » and s,

where p, ¢, r and s areintegers. Try to suggest a possible combination of p, ¢, r, s that

fits each the following condition.

(@) £ Aj- ihd fEIA @ & A ik B RE .

Rectangle one has bigger area while rectangle two have longer perimeter.

% % Answer

(b) £=75= cha ff2 % Rios £ 7)- h= & o

Rectangle two’s area and perimeter are both three times that of rectangle one.

% % Answer

() £ - G fFak A NEREL - P F L LA - 2
Rectangle one’s area is double that of rectangle two and its perimeter is just half of that of

rectangle two.
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